
                                              
 
            
   
 
 
 
 
 

 
                                                             

              INSTALLATION INSTRUCTIONS 
                                P/N C4010 
                      MUSTANG TORQUE 

 
This product is designed to be used in 1979-1933 Mustangs with a 5.0 liter engine. The torque 
link will reduce the strain on stock motor mounts and help to improve shift quality by 
reducing engine movement. The link assembly can be removed so that a comfortable street 
ride can be had when the vehicle is not being used for racing. Installation of this product 
necessitates temporary removal of the power steering and a/c brackets. 
 
                                            PARTS LIST 

 
        1) Link Tube           1) Frame Bracket 
        2) Clevis Pins              2) Clevis Clips 
        2) 3/8”-16 Bolts          2) 3/8” Locknuts 
        2) 1/2” Clevis                2) 1/2” Jam Nuts 
        1) Engine Bracket          2) Washers 

 
INSTALLATION 
 

1. Loosen and remove the power steering pump and a/c brackets. It is not necessary to 
disconnect the lines. The supplied Engine Bracket mounts on the stud that goes through 
the power steering pump bracket and the a/c bracket into the cylinder head. 

2. Mount the Engine Bracket on to the stud so that it sits flush against the cylinder head. 
3. Re-Install the power steering and a/c brackets 
 
NOTE:  It may be necessary to trim the power steering and a/c brackets in the area that mounts 
to the stud.1/4” is the total amount of material that should be removed. 
 
4. Remove the two bolts that retain the driver’s side sway bar frame mount. Discard the bolts 

and nut plate. 
5. Install the supplied Frame Bracket onto the top of the sway bar frame mount. Make sure 

that the mounting tab is in line with the Engine Bracket. Secure it in place with the 3/8”-16 
bolts and locknuts.  

6. Assemble the link using the ½”-20 clevises and jam nuts. Measure the center to center 
distance of the new mounting brackets and set the link assembly to this dimension. 

7. Install the assembled link using the supplied clevis pins and clips. 
8. Road test and re-tighten all bolts. 

         
 
 
 
 

   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

              INSTALLATION INSTRUCTIONS 
                                P/N C4010 
                      MUSTANG TORQUE 

 
This product is designed to be used in 1979-1933 Mustangs with a 5.0 liter engine. The torque 
link will reduce the strain on stock motor mounts and help to improve shift quality by 
reducing engine movement. The link assembly can be removed so that a comfortable street 
ride can be had when the vehicle is not being used for racing. Installation of this product 
necessitates temporary removal of the power steering and a/c brackets. 
 
                                            PARTS LIST 

 
        1) Link Tube           1) Frame Bracket 
        2) Clevis Pins              2) Clevis Clips 
        2) 3/8”-16 Bolts          2) 3/8” Locknuts 
        2) 1/2” Clevis                2) 1/2” Jam Nuts 
        1) Engine Bracket          2) Washers 

 
INSTALLATION 
 

1. Loosen and remove the power steering pump and a/c brackets. It is not necessary to 
disconnect the lines. The supplied Engine Bracket mounts on the stud that goes through 
the power steering pump bracket and the a/c bracket into the cylinder head. 

2. Mount the Engine Bracket on to the stud so that it sits flush against the cylinder head. 
3. Re-Install the power steering and a/c brackets 
 
NOTE:  It may be necessary to trim the power steering and a/c brackets in the area that mounts 
to the stud.1/4” is the total amount of material that should be removed. 
 
4. Remove the two bolts that retain the driver’s side sway bar frame mount. Discard the bolts 

and nut plate. 
5. Install the supplied Frame Bracket onto the top of the sway bar frame mount. Make sure 

that the mounting tab is in line with the Engine Bracket. Secure it in place with the 3/8”-16 
bolts and locknuts.  

6. Assemble the link using the ½”-20 clevises and jam nuts. Measure the center to center 
distance of the new mounting brackets and set the link assembly to this dimension. 

7. Install the assembled link using the supplied clevis pins and clips. 
8. Road test and re-tighten all bolts. 

                 
           For Technical Assistance, Call Competition Eng. Tech Line at

(203) 458-0542,458-0546  8:30am – 5:00pm Eastern Time For Technical Assistance, Call Competition Eng. Tech Line at
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 
 

COMPETITION ENGINEERING 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-5200 • Fax: (203) 453-6906 
 COMPETITION ENGINEERING 

80 CARTER DR • GUILFORD, CT 06437 
Phone: (203) 453-5200 • Fax: (203) 453-6906  

 Visit Us At www.competitionengineering.com Rev.C 
031011 C4010INST

Visit Us At www.competitionengineering.com Rev.C 
031011 C4010INST  



 
P/N C4010 INSTRUCTIONS (Cont’d.)                   P/N C4010 INSTRUCTIONS (Cont’d.) 
Page 2             Page 2 
 
 
 

     

 
 


